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Number of Questions to be attempted :

Section Marks :

Display Number Panel :

Group All Questions :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section 1d :

Question Shuffling Allowed :

20

80

Yes

Yes

Yes

1
710870139
Yes

Question Number : 1 Question Id : 7108705581 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following crops is a commercial crop in Punjab and Haryana but is a

subsistence crop in Orissa?

1. Tea

2. Cotton

3. Rubber

4. Rice
Options :
71087022321. 1
71087022322. 2

71087022323.3
71087022324. 4

Question Number : 2 Question Id : 7108705582 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following are the two most important wheat-growing zones of the country?
A. Ganga-Satluj plains in the north-west

B. Deltaic regions

C. Black soil region of the Deccan

D. Plains of north-east

Choose the correct answer from the options below:

1. Only A and B
2.0nly B and C
3.0nlyCand D
4.OnlyAand C
Options :
71087022325. 1
71087022326. 2
71087022327. 3
71087022328. 4

Question Number : 3 Question Id : 7108705583 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Indian agriculture is typically characterized as

1. Land surplus, labour scarce economy
2. Land surplus, labour surplus economy
3. Land scarce, labour surplus economy
4. Land scarce, labour scarce economy
Options :

71087022329. 1
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71087022330. 2
71087022331. 3
71087022332. 4

Question Number : 4 Question Id : 7108705584 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following countries is the main rival of India in tea export?

1. China

2. Japan

3. Germany

4. Sri Lanka
Options :
71087022333. 1
71087022334. 2
71087022335. 3
71087022336. 4

Question Number : 5 Question Id : 7108705585 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements

Statement A: MSP is declared by the government every year to provide incentives to the
farmers for raising the production of crops.

Statement B: Buffer stock is created to distribute food grains in the deficit areas and among
the poorer strata of the society at the lower price than the market price.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement A and Statement B are correct

2. Both Statement A and Statement B are incorrect

3. Statement A is correct but Statement B is incorrect
4, Statement A is incorrect but Statement B is correct
Options :

71087022337. 1

71087022338, 2

71087022339. 3

71087022340. 4

Question Number : 6 Question Id : 7108705586 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following is a global association of nations of the world to help cooperation
in international law, security, economic development and social equity?

1. United Nations Organization
2. International Monetary Fund
3. World Bank

4. World Health Organization
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Options :

71087022341. 1
71087022342, 2
710870223433
71087022344. 4

Question Number : 7 Question Id : 7108705587 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Under the Ganga Action Plan Phase Il, pollution abatement works are being taken up in how
many towns?

T 4

2. 65

3.52

4.69

Options :
71087022345. 1
71087022346. 2
71087022347. 3
71087022348. 4

Question Number : 8 Question Id : 7108705588 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the following statements is incorrect?

1. The highest number of pigs in the world are found in India

2. Utter Pradesh provides largest amount of pork

3. Assam has the largest number of pork producing pigs

4. Pork constitutes about 7.6% of the total meat produced in India

Options :
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71087022349. 1
71087022350. 2
71087022351. 3
71087022352. 4

Question Number : 9 Question Id : 7108705589 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which type of N-fertilizer is suitable for water-logged soils?

1. Zinc Phosphate

2. Ammonium Sulphate
3. Calcium

4. Potassium Nitrate
Options :

71087022353. 1
71087022354. 2
71087022355.3
71087022356. 4

Question Number : 10 Question Id : 7108705590 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The famous Bailadila range of hills in the Bastar district of Chhattisgarh is famous for its

1. Bauxite deposits

2. Manganese deposits

3. Copper deposits

4. High-grade haematite deposits
Options :

71087022357. 1
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71087022358. 2
71087022359. 3
71087022360. 4

Question Number : 11 Question Id : 7108705591 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A farmer wishes to start a 100 sg. m rectangular vegetable garden. Since he has only 30m
barbed wire, he fences three sides of the garden letting his house compound wall act as the
fourth side fencing. What is the dimension of the garden?

1. 15 mx 6.67m
2.20mxs5m
3.30mx333m
440mx25m
Options :
71087022361. 1
71087022362. 2
71087022363. 3
71087022364. 4

Question Number : 12 Question Id : 7108705592 Question Type : MCQ Option Shuftling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In which one of the following industries, the consumption of natural rubber is the largest?

1. Auto tyres and tubes
2. Footwear

3. Dipped goods

4. Latex foam

Options :
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71087022365. 1
71087022366. 2
71087022367. 3
71087022368. 4

Question Number : 13 Question Id : 7108705593 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following countries was the partner country of 34" Surajkund International
Crafts Fair held in Haryana?

1. China

2. Nepal

3. Bhutan

4, Uzbekistan
Options :
71087022369. 1
71087022370. 2
71087022371. 3
71087022372. 4

Question Number : 14 Question Id : 7108705594 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Nobel laureate Abhijit Vinayak Banerjee was conferred the honorary Doctor of Letters (D. Litt.)
by which University?

1. University of Delhi

2. University of Kolkata

3. University of Mumbai

4. University of Hyderabad
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Options :

71087022373. 1
71087022374. 2
71087022375. 3
71087022376. 4

Question Number : 15 Question Id : 7108705595 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Where is the headquarters of European Union?

1. Geneva, Switzerland
2. Washington D.C., USA
3. New York, US

4. Brussels, Belgium
Options :

71087022377. 1
71087022378. 2
71087022379. 3
71087022380. 4

Question Number : 16 Question Id : 7108705596 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following would be deficient if one finds high somatic cell count in the cow's
milk?

1. Butterfat

2. Whey protein
3. Casein

4. Trace minerals
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Options :

71087022381. 1
71087022382. 2
71087022383. 3
71087022384. 4

Question Number : 17 Question Id : 7108705597 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Who was the first administrator-statesman to attempt planning as a means for economic
development?

1. C. Rajagopalachari

2. V. T. Krishnamachari

3. M. Viswesvarayya

4. Sir C. P. Ramaswami Aiyyar
Options :

71087022385. 1

71087022386. 2

71087022387. 3

71087022388. 4

Question Number : 18 Question Id : 7108705598 Question Type : MCQ Option Shuftling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Amazon rainforest span over nine countries. In August 2019, in which country did a deadly fire
broke out in the Amazon forest?

1. Brazil

2. Venezuela
3. Colombia
4. Argentina
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Options :

71087022389. 1
71087022390. 2
71087022391. 3
71087022392. 4

Question Number : 19 Question Id : 7108705599 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Economic liberalization in India started with

1. Sustainable changes in industrial licensing policy
2. The convertibility of the Indian Rupee

3. Significant reduction of tax rates

4. Changes in procedural formalities for FDI
Options :

71087022393. 1

71087022394. 2

71087022395. 3

71087022396. 4

Question Number : 20 Question Id : 7108705600 Question Type : MCQ Option Shuftling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The term ‘Delimitation” which was in news recently is associated with which process?

1. Fixing the limit of Income tax

2. Fixing limits of Affordable housing

3. Fixing limits of Territorial constituencies
4. Fixing limits of Chairpersons salary
Options :

71087022397 1
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71087022398. 2
71087022399. 3
71087022400. 4

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Display Number Panel :

Group All Questions :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 21 Question Id : 7108705601 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Part B Core Community Science
710870140
2
Online
Mandatory
50
50
200
Yes
Yes
Yes
1
710870140
Yes

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Consumer education is the study of:

A. Discovering personal needs.

B. Being aware of consumer rights.

C. Knowing resources used for production.

D. Learning not to be persuaded.

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. B and D only
4. A and D only

Options :

71087022401. 1
71087022402. 2
71087022403. 3
71087022404. 4

Question Number : 22 Question Id : 7108705602 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The complimentary colours on the colour wheel of 'Prang System’ are:
A. Red and Yellow

B. Red and Green

C. Yellow and Purple

D. Yellow and Blue

E. Blue and Orange

Choose the correct answer from the options given below:

1. A, B, Conly
2. B, C, D only
3.B, C, Eonly
4.C, D, E only
Options :
71087022405. 1
71087022406. 2
71087022407. 3
71087022408. 4

Question Number : 23 Question Id : 7108705603 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Speed of a motor-driven equipment is measured in

1. RPM

2. Horse Power
3. Kilo Watt hour
4. Volts

Options :
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71087022409. 1
71087022410. 2
71087022411. 3
71087022412. 4

Question Number : 24 Question Id : 7108705604 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The dark colouration in aluminium vessels occurs due to its contact with:
A. Acidic Solutions

B. Alkaline Solutions

C. Hard Water

D. Oil

E. Dust

Choose the correct answer from the options given below:

1. A and B only
2. C and D only
3. B and C only
4. D and E only
Options :
71087022413. 1
71087022414. 2
71087022415. 3
71087022416. 4

Question Number : 25 Question Id : 7108705605 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

Which one of the following is a consumer publication published by the Consumer Guidance
Society of India?

1. Aawaz

2. Sanskaar

3. Adhikaar

4, Keemat
Options :
71087022417. 1
71087022418. 2

71087022419. 3
71087022420. 4

Question Number : 26 Question Id : 7108705606 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The marketing system that studies marketing data using statistical procedures and models

1. Internal Accounting System
2. Analytical Marketing System
3. Market Intelligence System
4. Market Monitoring System
Options :

71087022421. 1

71087022422 2

71087022423. 3

71087022424, 4

Question Number : 27 Question Id : 7108705607 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Limit of elbow flexion is

1. 90°

2. 110°

3. 130°

4. 150°
Options :
71087022425. 1
71087022426. 2
71087022427. 3
71087022428. 4

Question Number : 28 Question Id : 7108705608 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Recommended height of the railing of the staircase is

1. 2 feet
2. 2-21-feet

3. 3 feet
4. 3 %feet

Options :

71087022429. 1
71087022430. 2
71087022431. 3
71087022432. 4

Question Number : 29 Question Id : 7108705609 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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A step by step description of the method used in doing the work is called a

1. Pathway Chart
2. Process Chart
3. Motion Studies
4. Transportation
Options :
71087022433. 1
71087022434, 2
71087022435. 3
71087022436. 4

Question Number : 30 Question Id : 7108705610 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The components of the larger environment of a family are:
A. Neighbourhood

B. Schools

C. Government

D. Local Parks

E. Solar System

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. Cand E only
4. D and E only
Options :
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71087022437. 1
71087022438. 2
71087022439. 3
71087022440. 4

Question Number : 31 Question Id : 7108705611 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In a dress, design rhythm CANNOT be produced by

1. Alternation

2. Concentration
3. Radiation

4. Progression
Options :
71087022441. 1
71087022442. 2
71087022443. 3
71087022444 4

Question Number : 32 Question Id : 7108705612 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Sanforization falls under which category of finishing processes applied on fabrics?

1. Chemical

2. Mechanical
3. Aesthetic
4. Protection
Options :
71087022445. 1
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71087022446. 2
71087022447. 3
71087022448. 4

Question Number : 33 Question Id : 7108705613 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following is NOT a ply yarn?

1. Cord

2. Complex

3. Novelty

4. Filament
Options :
71087022449. 1
71087022450. 2
71087022451. 3
71087022452. 4

Question Number : 34 Question Id : 7108705614 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following is an example of a warp knit?

1. Tricot

2. Jersey

3. Purl

4. Interlock
Options :
71087022453. 1

71087022454. 2
71087022455. 3
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71087022456. 4

Question Number : 35 Question Id : 7108705615 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following is a regenerated protein fiber?

1. Rayon

2. Lyocell

3. Azlon

4. Cuprammonium
Options :
71087022457. 1
71087022458. 2

71087022459. 3
71087022460. 4

Question Number : 36 Question Id : 7108705616 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

L ]
gcollegedunlaa
India’s largest Student Review Platform

T



A horizontal off shade band found across the knitted fabric can be due to:
A. Defect in yarn

B. Uneven tension

C. Stock dyeing

D. Low thread count

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. Cand D only
4. A and D only
Options :
71087022461. 1
71087022462. 2
71087022463. 3
71087022464. 4

Question Number : 37 Question Id : 7108705617 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Vertical lines in a garment can be incorporated as:

A. Flap pockets

B. Knife pleats

C. Boat neckline

D. Pointed collars

E Single columns of colour

Choose the correct answer from the options given below:

1. A B, D only
2.C, E Donly
3.B,D, Eonly
4. A C Donly
Options :

71087022465. 1
71087022466. 2
71087022467. 3
71087022468. 4

Question Number : 38 Question Id : 7108705618 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Given below are two Statements: one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A: Disperse dyes are most suitable for transfer printing

Reason R: Disperse dyes sublime on heating

In light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087022469. 1

71087022470. 2

71087022471. 3

71087022472. 4

Question Number : 39 Question Id : 7108705619 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements:

Statement I: In a skirt, diagonal wrinkles radiating towards the side seams and the center front
indicate prominent hip bones

Statement II: The upper tips of the pelvic girdle are less than average

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement |l are incorrect

3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is correct
Options :

71087022473. 1

71087022474, 2

71087022475. 3

71087022476. 4

Question Number : 40 Question Id : 7108705620 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List 1l

List | List 11
Seams Characteristics/Purpose
A. Fused .. Used for suede/leather and vinyl
B. French
Il. Zig Zag or overedge stitch
C. Hairline lll. Outerwear of transparent fabric
IV. Formed by a melting process
D. Glued which joins the seamline of

thermoplastic fabric

Choose the correct answer from the options given below:

LA-ILB-NV.C-1,D-H
2A-IV,B-IIILC-1I,D-1I
3.A-IV,B-IILC-I,D-II
4 A-1,B-NILC-I,D-IV
Options :

71087022477. 1
71087022478. 2
71087022479. 3
71087022480. 4

Question Number : 41 Question Id : 7108705621 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Energy yielding foods include:

A. Cereals

B. Fruits

C. Nuts and oilseeds

D. Vegetables

E. Fish

Choose the most appropriate answer from the options given below:

1. A and E only
2. Cand E only
3. A and C only
4. B and D only

Options :

71087022481. 1
71087022482. 2
71087022483. 3
71087022484. 4

Question Number : 42 Question Id : 7108705622 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements:
Statement |: Sprouting or germination helps to enhance the starch digestibility

Statement lI: Fermented foods are generally less nutritious than theri unfermented
counterparts

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement |l are incorrect

3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is correct
Options :

71087022485. 1

71087022486. 2

71087022487. 3

71087022488. 4

Question Number : 43 Question Id : 7108705623 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List 1l

List | List Il

A. Preservative |. Adulterant

B. Metanil yellow Il. Groundnuts

C. Aflatoxin lll. Sodium benzoate
D. Sensory evaluation IV. Texture

Choose the correct answer from the options given below:

1LA-ILB-IL,C-IV,D-I
2A-1,B-1IL,C-II,D-1IV
3 A-ILB-L,LC-I,D-IV
4 A-ILB-1,C-IV,D-1I
Options :

71087022489. 1
71087022490. 2
71087022491. 3
71087022492, 4

Question Number : 44 Question Id : 7108705624 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Idli, Bread and Dhokla are examples of which of the following types of foods?

1. Germinated foods
2. Sprouted foods

3. Marinated foods
4. Fermented foods
Options :
71087022493. 1
71087022494 2
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71087022495. 3
71087022496. 4

Question Number : 45 Question Id : 7108705625 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following is NOT an intentional adulterant?

1. Water

2. Starch

3. Removal of fat
4, Pesticides
Options :
71087022497. 1
71087022498. 2
71087022499, 3
71087022500. 4

Question Number : 46 Question Id : 7108705626 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following nutrients enhances the bioavailability of iron?

1. Ascorbic acid
2. Thiamine

3. Vitamin D

4. Retinol
Options :
71087022501. 1
71087022502. 2
71087022503. 3
71087022504. 4
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Question Number : 47 Question Id : 7108705627 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The height falling much short of the reference height of a person (of a given age) is known as

1. Underweight
2. Stunting

3. Wasting

4. Qver nutrition
Options :
71087022505. 1
71087022506. 2
71087022507. 3
71087022508. 4

Question Number : 48 Question Id : 7108705628 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Major nutrient involved in bone and tooth formation in humans is

1. Magnesium
2. Selenium

3. Chromium
4, Calcium

Options :

71087022509. 1
71087022510. 2
71087022511. 3
71087022512. 4
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Question Number : 49 Question Id : 7108705629 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The weight of Reference Indian Women in the age range of 18-29 years should be

1. 55 kg
2. 60 kg
3. 65 kg
4.62 kg
Options :
71087022513. 1
71087022514. 2
71087022515. 3
71087022516. 4

Question Number : 50 Question Id : 7108705630 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled
as Reason R

Assertion A: In jaundice, yellow discolouration of the skin occurs
Reason R: Damage to liver cells leads to an increase in bilirubin
In light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087022517. 1
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71087022518. 2
71087022519. 3
71087022520. 4

Question Number : 51 Question Id : 7108705631 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The age of viability for the unborn fetus is reached in

1. First trimester

2. Beginning of the second trimester
3. The third trimester

4. Germinal period

Options :

71087022521. 1

71087022522. 2

71087022523. 3

71087022524. 4

Question Number : 52 Question Id : 7108705632 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Ten year old Reshma, is in the stage of

1. Early childhood
2. Middle childhood
3. Late childhood

4. Early adolescence
Options :
71087022525. 1

71087022526. 2
71087022527. 3
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71087022528. 4

Question Number : 53 Question Id : 7108705633 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Families must understand that body image is an important component of the adolescent's

1. Sense of identity
2. Egocentrism

3. Formal operations
4. Family image
Options :
71087022529. 1
71087022530. 2
71087022531. 3
71087022532. 4

Question Number : 54 Question Id : 7108705634 Question Type : MCQ Option Shuftling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following best describes assimilation?

1. Existing schemes of thought

2. Test of memory

3. Addition of new information to the existing among children
4. Parental intervention

Options :

71087022533. 1

71087022534. 2

71087022535. 3
71087022536. 4
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Question Number : 55 Question Id : 7108705635 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Children are able to grasp the principle of conservation at which stage of development?

1. Sensorimotor thought

2. Preoperational thought

3. Concrete operational thought
4, Adulthood

Options :

71087022537. 1

71087022538. 2

71087022539. 3

71087022540. 4

Question Number : 56 Question Id : 7108705636 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Identify the activities from the following list, which promote pre-writing skills in children.
A. Running and jumping

B. Threading beads

C. Cutting pasting

D. Throw and catch

Choose the correct answer from the options given below:

1. A and B only
2. Cand D only
3. B and C only
4. A and D only
Options :
71087022541. 1
71087022542, 2
71087022543. 3
71087022544. 4

Question Number : 57 Question Id : 7108705637 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following are the rights of the children as stated in the UNCRC?
A. Right to Participation

B. Right to Development

C. Right to Exploration

D. Right to Travel

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. A and C only
4. A and D only
Options :
71087022545. 1
71087022546. 2
71087022547. 3
71087022548. 4

Question Number : 58 Question Id : 7108705638 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements: one is labelled as Assertion A and the other is labelled
as Reason R

Assertion A: A premature child tends to make faster developmental strides throughout life
compared to those born at full term

Reason R: Parental warmth can lead to positive gains for children who are born prematurely
In light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is Not the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087022549. 1

71087022550. 2

71087022551. 3

71087022552. 4

Question Number : 59 Question Id : 7108705639 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Arrange the life cycle tasks of Freud's Theory of Psycho-sexual Development in chronological
order

A. Children are learning bowel control

B. Id impulses transfer to the genitals

C. Sexual instincts die down

D. Ego directs sucking activities to breast/bottle

E. Sexual impulses reappear

Choose the correct answer from the options given below:

1.A D ECB
2.A, DB CE
3.D,AEECB
4 D,A B CE
Options :

71087022553. 1
71087022554. 2
71087022555. 3
71087022556. 4

Question Number : 60 Question Id : 7108705640 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Arrange these motor skills in chronological order of occurrence
A. Holds head erect and steady

B. Rolls from side to back

C. When prone, lifts self by arms

D. Rolls from back to the side

Choose the correct answer from the options given below:

1.A,CB D
2.C,A DB
3A,CD,B

4 C,B,AD
Options :
71087022557. 1
71087022558. 2
71087022559. 3
71087022560. 4

Question Number : 61 Question Id : 7108705641 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Extension aims at bringing about change in

1. Knowledge only
2. Attitude only

3. Skills only

4. All the above

Options :
71087022561. 1
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71087022562. 2
71087022563. 3
71087022564. 4

Question Number : 62 Question Id : 7108705642 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Most modern media of communication is

1. Puppets

2. Folk story telling
3. Television

4. Slide shows
Options :
71087022565. 1
71087022566. 2
71087022567. 3
71087022568. 4

Question Number : 63 Question Id : 7108705643 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The maximum number of flashcards to be used for one talk is

1. 10-12
2.12-14
3. 14-16
4. 16-18
Options :
71087022569. 1

71087022570. 2
71087022571. 3
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71087022572. 4

Question Number : 64 Question Id : 7108705644 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A sound extension program is based upon which one of the following principles?

1. Analysis of the problem
2. Prioritizing needs

3. Determining objectives
4. All the above

Options :

71087022573. 1
71087022574. 2
TINSTOZ225TN, 5
71087022576. 4

Question Number : 65 Question Id : 7108705645 Question Type : MCQ Option Shuftling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The State Agricultural University in India which is considered to have ushered the Green
Revolution in the country is

1. GBPUA & T, Pantnagar
2. HAU, Hissar

3. PAU, Ludhiana

4. APAU, Hyderabad
Options :

71087022577. 1
71087022578. 2
71087022579. 3
71087022580. 4
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Question Number : 66 Question Id : 7108705646 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The apex body for Agricultural research, teaching and extension in the country is

1. ATIC
2. ICAR
3. KVK
4. SAU

Options :

71087022581. 1
71087022582 2
71087022583. 3
71087022584. 4

Question Number : 67 Question Id : 7108705647 Question Type : MCQ Option Shuftling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The purpose of feeding data in an excel sheet is

1. Analysis of data
2. Sorting of data
3. Preparing graphs
4. All the above
Options :
71087022585. 1
71087022586. 2
71087022587. 3
71087022588. 4
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Question Number : 68 Question Id : 7108705648 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Place where the farmers can directly sell their produce to consumers

1. STEP

2. Apni Mandi

3. Chaupal

4. Mahila-E-Haat

Options :

71087022589. 1
71087022590. 2
71087022591. 3
71087022592. 4

Question Number : 69 Question Id : 7108705649 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A program with a focus on women development

1. JRY

2. TRYSEM

3. DWCRA

4. IRDP
Options :
71087022593. 1
71087022594. 2
71087022595. 3
71087022596. 4

Question Number : 70 Question Id : 7108705650 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

The process through which innovation spreads to the members of the social system is

1. Innovation decision
2. Communication

3. Adoption

4. Diffusion

Options :
71087022597 1
71087022598. 2
71087022599. 3
71087022600. 4

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Display Number Panel :

Group All Questions :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 71 Question Id : 7108705651 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Part C Family Resource Management
710870141
3
Online
Mandatory
50
50
200
Yes
Yes
Yes
1
710870141
Yes

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which one of the following systems produces movement of the body?

1. Skeletal

2. Muscular

3. Musculo-skeletal
4. Ligament
Options :
71087022601. 1
71087022602. 2
71087022603. 3
71087022604. 4

Question Number : 72 Question Id : 7108705652 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A multi-disciplinary subject which can be applied to study and design human components of
work systems is

1. Ergonomics

2. Human physiology
3. Work analysis

4. Bio-mechanics
Options :
71087022605. 1
71087022606. 2
71087022607. 3
71087022608. 4

Question Number : 73 Question Id : 7108705653 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Machine component/s of a work-system include

1. Work place and Physical environment
2. Displays, Controls and Processes

3. Displays, Controls and Human energy
4. Anthropometric data and Machines
Options :

71087022609. 1

71087022610. 2

71087022611. 3

71087022612. 4

Question Number : 74 Question Id : 7108705654 Question Type : MCQ Option Shuftling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The angle between the horizontal line of vision and the line between the eye and source
should be

1. Less than 30 degree

2. Greater than 30 degree
3. Between 45 - 60 degree
4. Greater than 60 degree
Options :

71087022613. 1
71087022614. 2
71087022615. 3
71087022616. 4

Question Number : 75 Question Id : 7108705655 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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For concentrated mental work in a "noise-sensitive occupation”, what is the recommended

noise level for a very small quite office?

1. 70-75dB

2. 60-70dB

3. 50-60dB

4. 40-45dB
Options :
71087022617. 1
71087022618. 2
71087022619. 3
71087022620. 4

Question Number : 76 Question Id : 7108705656 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

List |

List Il

A. Standard seat slope, while
reading

. 23 -27 degree

B. Easy chair, seat slope

l. 23 — 24 degree

C. Work chair, forward bending

lIl. 20 — 27 degree

D. Multipurpose chair seat slope

IV. 20- 24 degree

Choose the correct answer from the options given below:

TLA-ILB-IILC-1IV,D-I
2A-ILB-IV,C-I,D-Il
3A-IV,B-1II,C=-, D-}
4 A-1,B-1,C-1IV,D-1lI
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Options :

71087022621. 1
71087022622. 2
71087022623. 3
71087022624. 4

Question Number : 77 Question Id : 7108705657 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The flower arrangement on a dining table with sitting arrangement for 6 persons, should NOT
be

1. Low

2. Tall

3. Looking similar from all sides

4. Having flowers without fragrance
Options :

71087022625. 1

71087022626. 2

71087022627. 3

71087022628. 4

Question Number : 78 Question Id : 7108705658 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Hue of a color indicates

1. Name of the color

2. Darkness or lightness of color

3. Dullness or brightness of a color
4. Nearness or farness of a color
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Options :

71087022629. 1
71087022630. 2
71087022631. 3
71087022632. 4

Question Number : 79 Question Id : 7108705659 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the following is NOT the objective of Art?

1. Beauty

2. Expensiveness
3. Expressiveness
4. Functionalism
Options :
71087022633. 1
71087022634. 2

71087022635. 3
71087022636. 4

Question Number : 80 Question Id : 7108705660 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following principles of Art are applied to achieve the objectives of Art?
A. Balance

B. Rhythm

C. Beauty

D. Texture

E. Proportion

Choose the correct answer from the options given below:

1. A C Donly
2. A B, Eonly
3.B,C, D only
4. A, D, Eonly
Options :
71087022637. 1
71087022638. 2
71087022639. 3
71087022640. 4

Question Number : 81 Question Id : 7108705661 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which principle of Art is created through repetition, contrast and transition of lines?

1. Balance

2. Emphasis
3. Harmony
4. Focal Point

Options :
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71087022641. 1
71087022642 2
71087022643. 3
71087022644. 4

Question Number : 82 Question Id : 7108705662 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il

List | List Il

A. Analogous Colour scheme l. Orange, Red-Orange, Blue, Blue-green

B. Double complementary colour scheme _ _
Il. Yellow, Red-violet, Blue-violet

. lll. Yellow-Orange, Green, Red, Blue-violet
C. Split complementary colour scheme

D. Tetrad colour scheme IV. Yellow, Yellow-green, Green

Choose the correct answer from the options given below:

LA-LB-ILC-ILD-V
2A-W,;B-LC-ILL D~}
3A-ILB-ILC-IV,D-]
4 A-1IILB-IV,C-I,D-1
Options :

71087022645. 1
71087022646. 2

71087022647. 3
71087022648. 4

Question Number : 83 Question Id : 7108705663 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The illumination provided at a particular area, where a visual activity takes place is known as

1. Accent lighting
2. General lighting
3. Task lighting

4. Ambient lighting
Options :
71087022649. 1
71087022650. 2
71087022651. 3
71087022652. 4

Question Number : 84 Question Id : 7108705664 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following is classified as flat woven, woven pile and tufted on the basis of
mode of construction?

1. Draperies

2. Carpets and Rugs
3. Window blinds

4. Bed covers
Options :
71087022653. 1
71087022654. 2
71087022655. 3
71087022656. 4

Question Number : 85 Question Id : 7108705665 Question Type : MCQ Option Shuftling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List | List Il

Terms used for Window Description

Treatments

A. Cornice . Heavy curtains loosely hung on the sides of windows

B. Glass curtain

[Il. Thin fabric hung next to the window

C. Cafe curtain

lll. The horizontal band at the top of the window

D. Drapery

IV. Short curtains that cover a portion of the window

Choose the correct answer from the options given below:

T.A-IV,B-IIILC-1I,D-I
2A-ILB-I,C-IIILD-1IV
3. A-NILB-ILC-1IV,D-1I
4 A-1,B-IV,C-1I,D-1I
Options :

71087022657. 1
71087022658. 2
71087022659. 3
71087022660. 4

Question Number : 86 Question Id : 7108705666 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List |

List 1l

Classification of market

Examples

A. According to area or space

l. Sample Market

B. According to location

Il. Long-period market

C. According to the time factor

lll. Local market

D. According to goods displayed

IV. Village market

Choose the correct answer from the options given below:

1.LA-ILB-ILC-II,D-1IV
2A-1ILB-IV,C-II,D-I
3.A-ILB-LC-IV,D-
4 A-IV,B-IIILC-I,D-II
Options :

71087022661. 1
71087022662. 2
71087022663. 3
71087022664. 4

Question Number : 87 Question Id : 7108705667 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Modern concept of marketing includes

A. Customer promotion

B. Integrated marketing

C. Customer satisfaction

Select most appropriate answer from the following:

1. A only

2. B only

3. C only

4. A Band C
Options :
71087022665. 1
71087022666. 2
71087022667. 3
71087022668. 4

Question Number : 88 Question Id : 7108705668 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
TATA's products come under

1. Individual brand
2. Family brand

3. Umbrella brand
4, Private brand
Options :
71087022669. 1

71087022670. 2
71087022671. 3
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71087022672. 4

Question Number : 89 Question Id : 7108705669 Question Type : MCQ Option Shuftling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which type of marketing function is product planning and development, buying and
assembling, standardization and grading, and selling?

A. Physical distribution function

B. Auxiliary function

C. Merchandising function

Select the most appropriate answer from the following options

1. A only

2. B only

3. C only

4. A BandC
Options :
71087022673. 1
71087022674. 2
71087022675. 3
71087022676. 4

Question Number : 90 Question Id : 7108705670 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Employment, promotion, transfer, termination, training, wages and other incentives etc are the
aspects covered under which one of the following personnel management functions?

1. Operative function

2. Managerial functioning
3. General function

4. Residual function
Options :

71087022677. 1
71087022678. 2
71087022679. 3
71087022680. 4

Question Number : 91 Question Id : 7108705671 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Financial institutions, development corporations and concerned government departments look
into which one of the following aspects of any entrepreneurial project?

1. Managerial and entrepreneurial capabilities
2. Socio-economic benefits

3. Technical and financial feasibility

4. Term and tenure of the project

Options :

71087022681. 1

71087022682. 2

71087022683. 3
71087022684. 4

Question Number : 92 Question Id : 7108705672 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A light that mainly fills an aesthetic need, such as a spotlight is called

1. Task lighting

2. Accent lighting
3. General lighting
4. Ambient lighting
Options :
71087022685. 1
71087022686. 2
71087022687. 3
71087022688. 4

Question Number : 93 Question Id : 7108705673 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il

List | List It

Activity Standard Height
A. Kneading dough I. 76 - 82 cm

B. Preparation counter 1. 96 — 100 cm

C. Sink floor 1. 90 - 92 cm

D. Ironing board/counter IV. 86 — 88 cm

Choose the correct answer from the options given below:

TLA-ILB-IV,C-II,D-1
2A-ILB-I,C-IV,D-1I
3. A-IV,B-IILC-1,D-1I
4 A-1,B-ILC-1II,D-1IV
Options :

71087022689. 1
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71087022690. 2
71087022691. 3
71087022692. 4

Question Number : 94 Question Id : 7108705674 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il

List | List Il

Construction features Ergonomic considerations

A. Kitchen work counter area |. Stature of the tallest person of the house

B. Height of door handle Il. Maximum horizontal reaches of both hands

C. Height of doorway lIl. Maximum vertical reach of the preferred hand
D. Hanger rod of cupboards IV. Not less than knuckle height while standing

Choose the correct answer from the options given below:

1.A-IV,B-1IIILC-1I,D-1
2A-ILB-IV,C-1,D-1I
3.A-IV,B-1LC-1I,D-I
4 A-1,LB-ILC-1I,D-IV
Options :

71087022693. 1
71087022694 2

71087022695. 3
71087022696. 4

Question Number : 95 Question Id : 7108705675 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

The time taken by cement to get strength, set and become an integral part of a structure is
called its

1. Setting time
2. Bulking time
3. Drying time
4. Curing time
Options :

71087022697. 1
71087022698. 2

71087022699. 3
71087022700. 4

Question Number : 96 Question Id : 7108705676 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List | List Il

Area NBO’s Recommendation for Size

A. Condominium l. Has open space only on 3 sides

B. Bungalow Il. Joint ownership

C. Semi-detached house lll. Double-storey dwelling with 2 apartments
D. Duplex housing IV. Single storey house with a low pitched roof

Choose the correct answer from the options given below:

1LA-IV,B-IIILC-1l,D-1
2A-,B-1I,C-III,D-1IV
3.A-LB-1L,C-IV,D-I
4 A-ILB-IV,C-I,D-1
Options :

71087022701. 1
71087022702. 2
71087022703. 3
71087022704. 4

Question Number : 97 Question Id : 7108705677 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Hardest building stone is

1. Granite

2. Marble

3. Lime stone
4. Gypsum
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Options :

71087022705. 1
71087022706. 2
71087022707. 3
71087022708. 4

Question Number : 98 Question Id : 7108705678 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following building materials is regarded as low cost, locally available
and eco-friendly in north-east states of India?

1. Stones

2. Marble

3. Bamboo

4. Fly-ash bricks
Options :
71087022709. 1
71087022710. 2
71087022711. 3
71087022712. 4

Question Number : 99 Question Id : 7108705679 Question Type : MCQ Option Shuftling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

As per Mundel, replacing peeler for a blunt knife for kitchen work is a perfect example of

1. Class 1: Change in hand and body motions

2. Class 2: Change in working arrangements and equipment
3. Class 3: Change in production sequence

4. Class 4: Change in finished product

Options :
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71087022713. 1
71087022714. 2
71087022715. 3
71087022716. 4

Question Number : 100 Question Id : 7108705680 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Some of the principles of management namely, authority, unity of command, scalar chain,
equity and division of work have been given by which one of the following scholars?

1. Gilbreth

2. Drucker

3. Fayol

4. Koontz and O'Donnell
Options :

71087022717. 1
71087022718. 2
71087022719. 3
71087022720. 4

Question Number : 101 Question Id : 7108705681 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The terms related to the System’s approach are

A. Microenvironment

B. Metro environment

C. Macro environment

D. Meta environment

E. Mini environment

Choose the correct answer from the options given below

1. A and C only
2. B and D only
3. A and B only
4. C and E only
Options :
71087022721. 1
71087022722, 2
71087022723. 3
71087022724. 4

Question Number : 102 Question Id : 7108705682 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the following man-made insulation materials is used for insulated clothing and
packing material?

1. Fiberglass
2. Urethane
3. Asbestos
4. Mica

collegedunia:s

India’s largest Student Review Platform

~

T




Options :

71087022725. 1
71087022726. 2
71087022727. 3
71087022728. 4

Question Number : 103 Question Id : 7108705683 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Given below are two Statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: The advantages of home-ownership outweigh the advantages of renting a home
Reason R: The ownership of the house gives a feeling of security to the family

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct and R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087022729. 1

71087022730. 2

71087022731. 3
71087022732. 4

Question Number : 104 Question Id : 7108705684 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Seasoning is a process necessary before the first use of which one of the following types of
cookware?

1. Brassware

2. Glassware

3. Aluminium ware
4. Ironware
Options :
T1087022733.1
71087022734, 2
71087022735.3
71087022736. 4

Question Number : 105 Question Id : 7108705685 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Match List | with List Il Match the (list 1) with their (list II)

List | List 1l

Principles of house planning |Explanation / Definitions

A. Agmark . Product certification

B. Hallmark ll. Environment-friendly products
C. ISI mark lIl. Gold jewellery certification

D. Eco mark IV. Agricultural Marketing

Choose the correct answer from the options given below:

1LA-IV,B-IIILC-1,D-1
2A-1ILB-ILC-1,D-1IV
3.3A-LB-ILC-1I,D-1IV
4 A-IV,B-1LC-1I,D-1l
Options :
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71087022737. 1
71087022738. 2
71087022739. 3
71087022740. 4

Question Number : 106 Question Id : 7108705686 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Arrange the following stages of family life cycle in correct order.
A. Period of establishment

B. Childbearing and pre-school

C. Vocational adjustment of children

D. High school and college

E. Financial recovery and retirement

Choose the correct answer from the options given below

LA BDLCE
2.A B CD,E
3.A,B,D,EC
4 A B ECD
Options :

71087022741. 1
71087022742, 2
71087022743. 3
71087022744. 4

Question Number : 107 Question Id : 7108705687 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

What does GRIHA stand for?

1. Green Rating for Integrated Habitat Assessment

2. Green Rating for Indian Housing Association

3. Green Rating for Industries and Housing Assessment
4. Green Rating for India Habitat Assessment

Options :

71087022745. 1

71087022746. 2

71087022747. 3

71087022748. 4

Question Number : 108 Question Id : 7108705688 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The communication process does NOT involve which one of the following?

1. The sender
2. The noise

3. The receiver
4. The money
Options :
71087022749. 1
71087022750. 2
71087022751. 3
71087022752. 4

Question Number : 109 Question Id : 7108705689 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Arrange the ‘organization process in management’ in a proper sequence
A. Grouping activities

B. Identifying and classifying activities

C. Delegating authority

D. Delegation of work

E. Coordination

Choose the correct answer from the options given below

LBADCLCE
2.ABECD
3B CAED
4 EABCD
Options :

71087022753. 1
71087022754. 2
71087022755. 3
71087022756. 4

Question Number : 110 Question Id : 7108705690 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following metals has high thermal mass, conducts heat evenly and holds it well,
and is most suitable for making chapattis?

1. Stainless steel
2. lron

3. Aluminium

4. Brass

Options :
71087022757. 1
71087022758. 2
71087022759.3
71087022760. 4

Question Number : 111 Question Id : 7108705691 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the following methods of forming utensils is complex, involving 2 -8 operations,
and requires in-between reheating?

1. Drawn utensils

2. Stamped utensils
3. Cast Utensils

4. Spun utensils
Options :
71087022761. 1
71087022762. 2

71087022763. 3
71087022764. 4

Question Number : 112 Question Id : 7108705692 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Brass is an alloy of

1. Chromium and Nickel
2. Copper and Bronze

3. Copper and Zinc

4. Copper and Tin
Options :

71087022765. 1
71087022766. 2
71087022767. 3
71087022768. 4

Question Number : 113 Question Id : 7108705693 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Electric geyser works on the principle of

1. Conduction

2. Convection

3. Radiation

4. Evaporative cooling
Options :
71087022769. 1
71087022770. 2
71087022771. 3
71087022772. 4

Question Number : 114 Question Id : 7108705694 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which one of the following is a renewable, environment-friendly source of fuel for household
purposes?

1. Solar energy

2. Liquified Petroleum Gas
3. Electricity

4. Wood and charcoal
Options :

71087022773. 1
71087022774. 2
71087022775. 3
71087022776. 4

Question Number : 115 Question Id : 7108705695 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Use-value of owned durable goods and household production are the sources of which type
of income?

1. Direct Real Income

2. Psychic Income

3. Money Income

4, Indirect or Market Income
Options :

71087022777. 1

71087022778. 2

71087022779. 3

71087022780. 4

Question Number : 116 Question Id : 7108705696 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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The ‘World Consumer Rights Day’ is celebrated on which day?

1. 5% March

2. 14™ March

3. 15" March

4. 25 December
Options :
T1087022781. 1
71087022782. 2
71087022783. 3
T1087022784. 4

Question Number : 117 Question Id : 7108705697 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Given below are two Statements: one is labelled as Assertion A and the other is labelled
as Reason R

Assertion A: As the income increases, the percentage of expenditure on food decreases

Reason R: Percentage expenditure of income on clothing practically remains the
same, irrespective of change in income

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087022785. 1

71087022786. 2
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71087022787. 3
71087022788. 4

Question Number : 118 Question Id : 7108705698 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The right to which one of the following means having protection against the marketing of
goods and services which are hazardous to health or life of a person?

1. Right to Choose

2. Right to Safety

3. Right to be heard

4. Right to be informed
Options :

71087022789. 1
71087022790. 2
71087022791. 3
71087022792. 4

Question Number : 119 Question Id : 7108705699 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
When any substance (s) are added or removed from the original product so as to change its
nature, composition or quality is known as

1. Prevention

2. Consumption
3. Adulteration

4, Standardization
Options :
71087022793. 1
71087022794. 2
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71087022795. 3
71087022796. 4

Question Number : 120 Question Id : 7108705700 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Arrange the following steps of making a budget in the correct order, as suggested by Gross
and Crandall

A. Estimate and then total, the expected income

B. List commodities and services needed during the proposed period of budget

C. Check plans for chances of success

D. Estimate costs of desired items, totaling each classification and the budget as a whole
E. Bring expected income and expenditure into balance

Choose the correct sequence:

1.A B CD,E
2B CDEA
3.EBCDA
48,D,AEC
Options :
71087022797. 1
71087022798. 2
71087022799. 3
71087022800. 4
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